	1) If the demand for farm products is price inelastic, a good harvest will cause farm revenues to: 
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A.
[image: image2.wmf]
either increase or decrease, depending on what happens to supply.
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B.
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be unchanged.
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C.
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increase
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D.
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decrease



	

	2) A leftward shift in the supply curve of product X will increase equilibrium price to a greater extent the: 
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A.
[image: image10.wmf]
more inelastic the demand for the product.
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B.
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more elastic the demand for the product.
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C.
[image: image14.wmf]
more elastic the supply curve.
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D.
[image: image16.wmf]
larger the elasticity of demand coefficient.



	

	3) The advent of DVDs has virtually demolished the market for videocassettes. This is an example of: 
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A.
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the difference between normal and economic profits.
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B.
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capital accumulation.
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C.
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creative destruction.
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D.
[image: image24.wmf]
derived demand.



	

	4) Suppose that in the clothing market, production costs have fallen, but the equilibrium price and quantity purchased have both increased. Based on this information we can conclude that: 
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A.
[image: image26.wmf]
There is no way to determine what has happened to supply and demand with this information.
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B.
[image: image28.wmf]
The supply of and demand for clothing have grown by the same proportion.
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C.
[image: image30.wmf]
The supply of clothing has grown faster than the demand for clothing.
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D.
[image: image32.wmf]
Demand for clothing has grown faster than the supply of clothing.



	

	5) Camille's Creations and Julia's Jewels both sell beads in a competitive market. If at the market price of $5, both are running out of beads to sell (they can't keep up with the quantity demanded at that price), then we would expect both Camille's and Julia's to: 
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A.
[image: image34.wmf]
lower their price and increase their quantity supplied.
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B.
[image: image36.wmf]
lower their price and reduce their quantity supplied.
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C.
[image: image38.wmf]
raise their price and reduce their quantity supplied.
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D.
[image: image40.wmf]
raise their price and increase their quantity supplied.



	

	6) Which of the following statements is true about productive and allocative efficiency? 
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A.
[image: image42.wmf]
Productive efficiency and allocative efficiency can only occur together; neither can occur without the other.
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B.
[image: image44.wmf]
Productive efficiency can only occur if there is also allocative efficiency.
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C.
[image: image46.wmf]
Society can achieve either productive efficiency or allocative efficiency, but not both simultaneously.
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D.
[image: image48.wmf]
Realizing allocative efficiency implies that productive efficiency has been realized.



	

	7) If a firm in a purely competitive industry is confronted with an equilibrium price of $5, its marginal revenue: 
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A.
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will be greater than $5.
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B.
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will also be $5.
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C.
[image: image54.wmf]
will be less than $5.
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D.
[image: image56.wmf]
may be either greater or less than $5.



	

	8) If a profit-seeking competitive firm is producing its profit-maximizing output and its total fixed costs fall by 25 percent, the firm should: 
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A.
[image: image58.wmf]
increase its output.
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B.
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not change its output.
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C.
[image: image62.wmf]
reduce its output.
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D.
[image: image64.wmf]
use more labor and less capital to produce a larger output.



	

	9) If technology dictates that labor and capital must be used in fixed proportions, an increase in the price of capital will cause a firm to use: 
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A.
[image: image66.wmf]
less labor as a consequence of the output effect.
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B.
[image: image68.wmf]
more labor as a consequence of the output effect.
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C.
[image: image70.wmf]
less labor as a consequence of the substitution effect.
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D.
[image: image72.wmf]
more labor as a consequence of the substitution effect.



	

	10) If a firm decides to produce no output in the short run, its costs will be: 
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A.
[image: image74.wmf]
zero.
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B.
[image: image76.wmf]
its fixed plus its variable costs.
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C.
[image: image78.wmf]
its fixed costs.
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D.
[image: image80.wmf]
its marginal costs.



	

	11) Which of the following represents a long-run adjustment? 
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A.
[image: image82.wmf]
a supermarket hires four additional clerks
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B.
[image: image84.wmf]
unable to meet foreign competition, a U.S. watch manufacturer sells one of its branch plants
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C.
[image: image86.wmf]
a steel manufacturer cuts back on its purchases of coke and iron ore
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D.
[image: image88.wmf]
a farmer uses an extra dose of fertilizer on his corn crop



	

	12) In which of the following industries are economies of scale exhausted at relatively low levels of output? 
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A.
[image: image90.wmf]
newspaper printing
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B.
[image: image92.wmf]
automobile manufacturing
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C.
[image: image94.wmf]
concrete mixing
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D.
[image: image96.wmf]
aircraft production



	

	13) Paying an above-equilibrium wage rate might reduce unit labor costs by: 
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A.
[image: image98.wmf]
increasing the supply of labor.
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B.
[image: image100.wmf]
increasing the cost to workers of being fired for shirking.
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C.
[image: image102.wmf]
increasing voluntary worker turnover.
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D.
[image: image104.wmf]
permitting the firm to attract lower-quality labor.



	

	14) A firm can hire six workers at a wage rate of $8 per hour but must pay $9 per hour to all of its employees to attract a seventh worker. The marginal wage cost of the seventh worker is: 
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A.
[image: image106.wmf]
$21.
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B.
[image: image108.wmf]
$10.
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C.
[image: image110.wmf]
$15.
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D.
[image: image112.wmf]
$9.



	

	15) A profit-maximizing firm will: 
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A.
[image: image114.wmf]
reduce employment if marginal revenue product equals marginal resource cost.
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B.
[image: image116.wmf]
reduce employment if marginal revenue product exceeds marginal resource cost.
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C.
[image: image118.wmf]
expand employment if marginal revenue product equals marginal resource cost.
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D.
[image: image120.wmf]
expand employment if marginal revenue product exceeds marginal resource cost.



	16) A competitive firm will maximize profits at that output at which: 
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A.
[image: image122.wmf]
the difference between marginal revenue and price is at a maximum.
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B.
[image: image124.wmf]
total revenue exceeds total cost by the greatest amount.
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C.
[image: image126.wmf]
price exceeds average total cost by the largest amount.
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D.
[image: image128.wmf]
total revenue and total cost are equal.



	

	17) Oligopoly is difficult to analyze primarily because: 
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A.
[image: image130.wmf]
neither allocative nor productive efficiency is achieved.
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B.
[image: image132.wmf]
the number of firms is too large to make collusion understandable.
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C.
[image: image134.wmf]
output may be either homogenous or differentiated.
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D.
[image: image136.wmf]
the price and output decisions of any one firm depend on the reactions of its rivals.



	

	18) An industry comprised of a small number of firms, each of which considers the potential reactions of its rivals in making price-output decisions is called: 
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A.
[image: image138.wmf]
pure competition.
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B.
[image: image140.wmf]
monopolistic competition.
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C.
[image: image142.wmf]
pure monopoly.
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D.
[image: image144.wmf]
oligopoly.



	

	19) Advertising can impede economic efficiency when it: 
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A.
[image: image146.wmf]
increases consumer awareness of substitute products.
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B.
[image: image148.wmf]
increases entry barriers.
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C.
[image: image150.wmf]
enables firms to achieve substantial economies of scale.
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D.
[image: image152.wmf]
reduces brand loyalty.



	

	20) Nonprice competition refers to: 
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A.
[image: image154.wmf]
reductions in production costs that are not reflected in price reductions.
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B.
[image: image156.wmf]
competition between products of different industries, for example, competition between aluminum and steel in the manufacture of automobile parts.
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C.
[image: image158.wmf]
advertising, product promotion, and changes in the real or perceived characteristics of a product.
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D.
[image: image160.wmf]
price increases by a firm that are ignored by its rivals.



	

	21) The practice of price discrimination is associated with pure monopoly because: 
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A.
[image: image162.wmf]
most monopolists sell differentiated products.

[image: image163.png]


B.
[image: image164.wmf]
it can be practiced whenever a firm's demand curve is downsloping.
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C.
[image: image166.wmf]
monopolists usually realize economies of scale.
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D.
[image: image168.wmf]
monopolists have considerable ability to control output and price.



	

	22) A monopolistically competitive industry combines elements of both competition and monopoly. The monopoly element results from: 
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A.
[image: image170.wmf]
mutual interdependence in decision making.
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B.
[image: image172.wmf]
the likelihood of collusion.
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C.
[image: image174.wmf]
product differentiation.
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D.
[image: image176.wmf]
high entry barriers.



	

	23) Assume the several manufacturers of ceramic tile in a city reach a verbal agreement to establish the price of their product at 55 cents per tile. This best describes: 

	[image: image177.png]


A.
[image: image178.wmf]
price leadership.
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B.
[image: image180.wmf]
multiproduct pricing.
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C.
[image: image182.wmf]
an informal understanding.
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D.
[image: image184.wmf]
a cartel.



	

	24) Suppose that an industry is characterized by a few firms and price leadership. We would expect that: 
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A.
[image: image186.wmf]
marginal revenue would exceed marginal cost.
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B.
[image: image188.wmf]
price would equal marginal cost.
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C.
[image: image190.wmf]
price would exceed both marginal cost and average total cost.
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D.
[image: image192.wmf]
price would equal average total cost.



	

	25) The profit-maximizing output of a pure monopoly is economically inefficient because in equilibrium: 
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A.
[image: image194.wmf]
price exceeds marginal cost.
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B.
[image: image196.wmf]
price equals minimum average total cost.
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C.
[image: image198.wmf]
marginal cost exceeds price.
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D.
[image: image200.wmf]
marginal revenue equals marginal cost.



	

	26) When economists view technological change as internal to the economy, they mean that it: 
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A.
[image: image202.wmf]
arises mainly from government subsidies.
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B.
[image: image204.wmf]
occurs randomly.
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C.
[image: image206.wmf]
arises deliberately from the profit motive and competition.
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D.
[image: image208.wmf]
occurs accidentally.



	

	27) Those who contend that oligopolists are less likely than more competitive firms to engage in R&D say that: 
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A.
[image: image210.wmf]
the large size of oligopolists' R&D departments allow them to use very specialized, expensive R&D equipment and employ teams of specialized researchers.
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B.
[image: image212.wmf]
entry barriers enable oligopolists to sustain the profits they gain from innovation.
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C.
[image: image214.wmf]
the undistributed profits of oligopolists give them a source of readily available, relatively low cost funds for financing R & D.
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D.
[image: image216.wmf]
Oligopolists have little incentive to introduce costly new technology and produce new products when they currently are earning large economic profit using existing technology and selling existing products.



	28) An economy's aggregate demand curve shifts leftward or rightward by more than changes in initial spending because of the: 
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A.
[image: image218.wmf]
multiplier effect.
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B.
[image: image220.wmf]
real-balances effect.
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C.
[image: image222.wmf]
wealth effect.
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D.
[image: image224.wmf]
net export effect.



	

	29) If the U.S. unemployment rate is 9 percent, we can infer that: 
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A.
[image: image226.wmf]
actual GDP is equal to potential GDP.
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B.
[image: image228.wmf]
actual GDP is in excess of potential GDP.
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C.
[image: image230.wmf]
potential GDP is in excess of actual GDP.
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D.
[image: image232.wmf]
the economy is in the expansion phase of the business cycle.



	

	30) Inflation is undesirable because it: 
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A.
[image: image234.wmf]
reduces everyone's standard of living.
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B.
[image: image236.wmf]
usually is accompanied by declining real GDP.
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C.
[image: image238.wmf]
invariably leads to hyperinflation.

[image: image239.png]


D.
[image: image240.wmf]
arbitrarily redistributes real income and wealth.



	

	31) A price index is: 
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A.
[image: image242.wmf]
a ratio of real GDP to nominal GDP.
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B.
[image: image244.wmf]
the cost of a market basket of goods and services in a base period divided by the cost of the same market basket in another period.
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C.
[image: image246.wmf]
a comparison of real GDP in one period relative to another.
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D.
[image: image248.wmf]
a comparison of the price of a market basket from a fixed point of reference.



	

	32) Suppose the price level is fixed, the MPC is .5, and the GDP gap is a negative $100 billion. To achieve full-employment output (exactly), government should: 
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A.
[image: image250.wmf]
reduce taxes by $200 billion.

[image: image251.png]


B.
[image: image252.wmf]
reduce taxes by $50 billion.
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C.
[image: image254.wmf]
increase government expenditures by $50 billion.
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D.
[image: image256.wmf]
increase government expenditures by $100 billion.



	

	33) Expansionary fiscal policy is so named because it: 
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A.
[image: image258.wmf]
is designed to expand real GDP.
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B.
[image: image260.wmf]
is aimed at achieving greater price stability.
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C.
[image: image262.wmf]
necessarily expands the size of government.
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D.
[image: image264.wmf]
involves an expansion of the nation's money supply.



	34) Stabilizing a nation's price level and the purchasing power of its money can be achieved: 
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A.
[image: image266.wmf]
with neither fiscal nor monetary policy.
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B.
[image: image268.wmf]
with both fiscal and monetary policy.
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C.
[image: image270.wmf]
only with monetary policy.
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D.
[image: image272.wmf]
only with fiscal policy.



	

	35) Other things equal, a decrease in the real interest rate will: 
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A.
[image: image274.wmf]
move the economy downward along its existing investment demand curve.
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B.
[image: image276.wmf]
move the economy upward along its existing investment demand curve.

[image: image277.png]


C.
[image: image278.wmf]
shift the investment demand curve to the left.
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D.
[image: image280.wmf]
shift the investment demand curve to the right.



	

	36) Other things equal, a 10 percent decrease in corporate income taxes will: 
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A.
[image: image282.wmf]
shift the investment-demand curve to the left.
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B.
[image: image284.wmf]
shift the investment-demand curve to the right.
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C.
[image: image286.wmf]
have no effect on the location of the investment-demand curve.
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D.
[image: image288.wmf]
decrease the market price of real capital goods.



	

	37) ___________ purchasing power parity states that the difference between changes over time in product-price levels in two countries will be offset by the change in the exchange rate over this time. 
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A.
[image: image290.wmf]
Relative
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B.
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Partial
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C.
[image: image294.wmf]
Absolute
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D.
[image: image296.wmf]
Full



	

	38) An unexpected increase in the money supply of 10% will cause the short-run exchange rate to: 
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A.
[image: image298.wmf]
Appreciate by more than 10%.
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B.
[image: image300.wmf]
Depreciate by less than 10%.
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C.
[image: image302.wmf]
Appreciate by less than 10%.
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D.
[image: image304.wmf]
Depreciate by more than 10%.



	

	39) An increase in interest rates in the United States will lead to: 

	[image: image305.png]


A.
[image: image306.wmf]
Capital inflows into the United States.
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B.
[image: image308.wmf]
Outflows of capital from the United States.
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C.
[image: image310.wmf]
A decrease in the demand for dollar-denominated financial assets.
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D.
[image: image312.wmf]
Depreciation of the dollar.
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